1 !
5 ' T g =
(1} ""I‘l 7 (2] -5 13) aa ‘/T (4] il 4x—-5Y 15] ) aa’ !
2 M3 R4 M5
7 7]
Al da'—12a+9 A -1 [t (r+2)(x-5) tu 12
T y=T
= 6 7 G - _
] . 5 1] o
= 3-2 13 Al 187 em’ | BEE 400 ot 6
| EE 10
. \ L, SEILTAD OtSrids,
\ B 1 AE:DE -+ll$
= - o | .
A, |  NTERRELLAS,
1 7/ ! ZAEF=/DEC @
N A+ BE/CD 75, FAHROMAIIELLOT,
0 _' ZEAF=ZEDC @
D, @, @b, 1HDIEEDOFEOAH,
i FNEhELVOT,
Bl
< | BEEm '
BHEA AL, F2AMTE, STEZANIETHY, P [mm)
FLEALDLHTESAONFRBENKE WSS, : l 2 |
B 1 2
2] i [2][mEH)]
7 2 A A,
o 36 :
o w3 mtﬁmﬁmmﬂﬁuaamﬁuffﬁu. _
2 I : 5I%AME LD LASVnG, L _Iwm2)
6 ! (L’
R 1 2 |
(1l ; (1) (2)
N [1 [1 gl =
51 2 km |5 A 2 T HEHDh 7 mf% —
o 10
3 .. - (B8 3]
) 10(r +a) =40a ) < HMERIT s
= R i M2
K 163 B 2]
w| 771 5500 M 752 4700 i TR S
* 12/ [ ool —L 1 L/ 1 -
300 kWh RiloL 2 500 + 35a+15(220 —a) <4700 i 1 ! |_E_]
T 1 2 7 3 S Y N 7 I '
1] Ft =1 ! H=—t=——F—H
wl” T | v B2 | | WA
i | 0 ]
5 e 4 LE 80 N S N S C o lmEs)
‘1 2 ) : i —-— - f— £ 1 - s - ) :
3 n cim Eﬁ em 8 e o o T : 8 !'

k]
3

ZRES e




